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QUESTION 1

An architect is completing the physical design for a vRealize Operation (vROps) solution for a customer. The customer
has only provided the following information for their existing environment: 

500 Virtual Machines 2 VMware vCenter Servers 10 VMware vSphere Horsts 20 Datastores Live data should be stored
within the vROps solution for 6 months The RTO for all existing management components is 4 hours The RTO for all
existing management components is 1 hour 

Which two assumptions could the architect make when sizing the vROps cluster? (Choose two.) 

A. The vROps cluster will be configured as High Availability. 

B. The RTO of the vROps solution will be 4 hours. 

C. The resource profile of a virtual machine will be, on average, 1 vCPU and 2 GB RAM. 

D. The minimum data retention within vRealize Operations Cluster will be 12 months. 

E. The RPO of the vROps solution will be 1 hour. 

Correct Answer: AB 

 

QUESTION 2

An architect is responsible for creating a new design to centralize the logging infrastructure for an existing 

vSphere environment. The key stakeholder in the project has provided the following list of requirements: 

The management solution must forward all logs to the existing centralized Security Incident and Event 

Management (SIEM) solution. 

The management solution must be a minimum of N + 1 resilient. 

The management solution must provide the ability to view at least 2 months of live data. 

The management solution must meet a monthly uptime SLA of 99.9%. 

The management solution must support the collection of logs from ten geographically separated data 

center locations. 

The management solution must support the collection of a minimum of 10,000 events per second. 

Given the information from the stakeholder, which two statements would be considered functional 

requirements? (Choose two.) 

A. The management solution must be a minimum of N + 1 resilient. 

B. The management solution must meet a monthly uptime SLA of 99.9%. 
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C. The management solution must provide the ability to view at least 2 months of live data. 

D. The management solution must forward all logs to the existing centralized Security Incident and Event Management
(SIEM) solution. 

E. The management solution must support the collection of a minimum of 10,000 events per second. 

Correct Answer: AC 

 

QUESTION 3

An architect is responsible for designing a new multi-cloud management solution for a customer. The 

customer has a cloud first strategy ad has provided the following high-level information about their current 

usage of the cloud: 

The customer has public cloud presence in AWS, Azure and GCP and uses a number of native cloud 

services. 

The customer runs all vSphere-based workloads within VMware Cloud on AWS. 

The customer would like to ensure they have the ability to deploy and monitor supported workloads and 

native services in any of their clouds. In addition to the deployment of vRealize Automate Cloud, which two 

recommendations should the architect make to meet the requirement? (Choose two.) 

A. vRealize Operations Cloud and vRealize Log Insight Cloud must be deployed into the same organization as vRealize
Automation Cloud. 

B. Create Cloud accounts in vRealize Operations Cloud with each of the cloud services to enable monitoring. 

C. vRealize Operations Cloud and vRealize Log Insight Cloud must be deployed into the same organizations as
VMware Cloud on AWS. 

D. Create Cloud accounts in vRealize Operations Cloud for AWS, Azure and VMware Cloud on AWS. GCP must be
configured through the management pack. 

E. Deploy a vRealize Operations Cluster in VMware Cloud on AWS and configure integration to vRealize Automation
Cloud. 

Correct Answer: CE 

 

QUESTION 4

What two statements are true about vRealize Operations Manager high availability (HA)? (Choose two.) 

A. With HA, data stored in the primary node is partially backed up on the replica node. 

B. Upon failure of the primary node, failover to the replica is automatic. 
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C. If the primary node fails, the replica node can take over all functions of the primary node. 

D. To enable HA, you must deploy at least 3 data nodes, plus the primary node. 

E. Data collection must be restarted from the administrative interface when the primary node fails. 

Correct Answer: BE 

 

QUESTION 5

An architect has been asked about migrating a client\\'s vRealize Automation solution from version 7.x to version 8.x.
One of the requirements is to continue to support custom XaaS (Anything as a Service) blueprints that the client has
developed. 

Which component of a vRealize Automation logical design will fulfill this requirement? 

A. Cloud Assembly 

B. Cloud Zones 

C. Service Broker 

D. Cloud-Init 

Correct Answer: B 
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